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General Physics Week i. .i FORCES!,r
\ ALL WORK NEATLY (grven information, equation(s), algebra" substitution, and unit analysis for full credit. Don't
forget significant figures. The first step for Forces problems is to draw a free body diagram. Use additional sheets as
necessary in order to show all work neatly! Box the final answer. Correct in red pen during class.
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2. If we increase the angle in the diagram shown, what will happen to the normal force?
what will happen to the folce of gravity? The comgonerle of the force of gravity?
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The law of inertiS states that no force is requirJd to maintain motion. Why, then, do you hwe/to keep pedaling your3. The law of inerlih states that no force is requirdd to maintain motion. Why, then, do you have/to keep pedaling your
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+. tf for"elof 15.0 N and 10.0 i *, t opposite air""tilo, on a 5.00 kg object, *h^{Kr("**{t?J:tfilr*" object? rf rhe

object was inifially at rest when the forces were applied, how far has the object traveled after'5.6'6Fconds?
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